b o) o

1. RFHERTT MoneyBank 5¥5k RM 5000, & FH % Z 12%, MEFMRTEEERITE DY
Jason borrow RM 5000 from Moneybank, if the charges of interest is 12% per annum, how much does he have
to paid after 2 years?

2. —Y)&IRM RMA00, ESRMERNMA 30%, mME—ABMNT, © U8IFEE, KW RFIE.
A goods cost RM 400. Selling price of the goods is 30% more than the cost. If it discounts 20% from the
selling price for sale, find its profit.

3. MEREB—mIU25%FELSGM A kE, JLER, MhAxsl 8 e EkE, EEHEE
X RM 4200 JSRie ¥ dn, KR SE 4 SR By R 1T
Mr. Ali earns 25% of profit from selling a product to Mr. Ah Kao. After a year of using, Mr Ah Kao sell it to
Mr. Mutu by discounts it 20%. If Mr. Mutu bought it by RM 4200, find the price of the product which was
firstly bought by Mr. Ali.

4. fR2(7—x)— (3x —2) = 60
Solve 2(7 — x) — (3x — 2) = 60

5. —X% 3BHELLRETER 101, HE=XHEMRTFENNIEIL RM1L50, KR—XRFEMNE.
A 3B pencil is 10 sen more expensive than a normal pen. Cost of 3 similar pencils and 5 pens is RM 11.50.
Find the price of a pen

6. =/MMESBEZE 2364, KiEL=%
Sum of three consecutive even number is 2364. What is these three number are?

7. H12MXELCM 2 36, K X K rEfE
The LCM of 12 and X is 36. Find the possible values of X

8. —KITEHMAEKRE 20 cm,ERZ 24 cm? KK TRV
The perimeter of a rectangle is 20cm, and its area is 24cm?. Find the length and width of the rectangle.

9. —KHAHE /NN ARMI AR KIKEER, HERARRNIKERREBLRANKETERLS 8
INEFRIRTTE), SR OKE IR B R # KRR,
A water tank can be filled with water by two pipes in 3 hours. If the smaller pipe takes 8 hours more than the
larger pipe to fill up the pool, find the time in which it will be filled by each pipe operating individually.

10. 1L 18 (a?b)?*(ab?)?
Simplify (a2b)2(ab?)?

11. 'ftfg’ﬁZ[ia + 2(1 —a)]
simplify 2[;a += (1 — a)]

12. {bfE1 —3x — (x — 2)(x + 3)
Simplify 1 — 3x — (x — 2)(x + 3)

13. L& (21pq® + 9p*q®) = Bpq?)
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

Simplify (21pq* + 9p*q>) + (3pq?)

SRS E(4x3 +6x2 —3) = (2x + 1)
Find the quotient and remainder of (4x3 + 6x% — 3) + (2x + 1)

E 5 #5p* + 13pq + 6¢°
Factorize 5p% + 13pq + 64>

2

Rt A - L2
2 2,2
Factorize = — 22
25
AR #E10a? — 5a(a — b)
Factorize10a? — 5a(a — b)

AR Ea’b? + 1—a?b?
Factorize a®b? + 1—a?b?

5k LCM F1 HCFp? + q2 + 2pq, 4p*(p + q), 643 (p + q)?
Find the LCM and HCF of p? + q2 + 2pq, 4p%(p + q), 693 (p + q)?

b b2
Slmpllfy +b2
p+q
A P
pr
p+q
Simplify —=—
pr
S X 6y . 6y—Xx
'T't]Hj 2 2 y * xy3
xX— 6y . 6y—Xx
Slmpln‘y y e

'ﬂf,fE’ﬁ x+3 + x—1

x2+3x+2  x2-x-6

Simplify = it

x2+3x+2  x2-x-6

B(x—7)(x+3)=5
Solve (x —7)(x+3)=5

fB2x2+5x—7=0
Solve 2x2 +5x—7=0

@ x—4 12

x2+x-2 x-1 x2—4

x—4 1 2
Solve - =

24x-2  x-1 x2-4
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27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

Fx = 3@ R + px + 15 = 0f9#F, KFAERMN A —x.
If x = —3 is the solution of the equationx? + px + 15 = 0, find the value of p. Hence find the other solution
of the equation

5x+3)=3(x—-1)+10
BAFH a1 w2 1

3 2 6

_ _ . (5S(x+3)=3(x—-1)+10
Solve the simultaneous inequalities { x+1  x+2 1
3 2 6

EM-4<x<2f2<y<4 xTy2EH X
Giventhat —4 < x <2and 2 <y < 4, xandy are integer, find

a. BAME +,x#0
The largest value of% + i x#0

b. &H/MEX? —y?
The least value of x2 — y?

—KAEAHKMEZ( +3)em F 5cm, K X s/ REEKTEANEIRZ 40cm?.
The length and width of a rectangle are (x + 3)cm and 5 cm respectively. Find the least integer value of x, if
the area of the rectangle is greater than 40cm?.

,‘.,\.x 1 1
'TJCIEﬂ3x y + (;—;)

i .1
Simplify 2 3x2y2 + (y )
fB2x>—x—-6=0

Solve2x2 —x—6=0

2 1 5
ﬁgx—l T 2x—1  2x2-3x+1
Solve — — —— = 5 >
x—1 2x—-1  2x2-3x+1
KA MESIETEAIFAMZ 130, KiXFEL.

Find the two-consecutive positive odd humbers such that the sum of their squares is equal to 130

AR #ka — kb — mb + ma
Factorize ka — kb — mb + ma

B (@ + 2b)2 — (a + 2b)(3a — 7h)
Factorize (@ + 2b)? — (a + 2b)(3a — 7b)
Ex+y=T7fx*+y%2=25 Kxyz&

Giventhat x + y = 7 and x? + y? = 25, find the value of xy

WEATR, KXx{E

In diagram, find the value of x
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39. 0EIFT7R, PQRSTU @ IERIAFE, TUVEHKEZ, KX
In diagram, PQRSTU is a regular hexagon and TUV is a straight line. Find the value of x

40. R Pr7=, PQ =SQ=RQ, < SOR =62°,<PST =74°, 3k<PQS
As shown in diagram, given that PQ = SQ= RQ, < SQR = 62°,<PST =74°, find <PQS

41. R pr7=, AD Z<CAE AN %. <B =30°F1 < DAE =65°, 3k <ACD
In diagram, AD is the angle bisector of < CAE. < B =30°and < DAE = 65°, find <ACD

42. HE—NEZIBEMINERE 36°, KILIEZ LR A,
If the exterior angle of a regular polygon is 36°, find the sum of the interior angle of the polygon.

43. WEFr7r, MZ AB iy# 5, MC=MD, < CMA=<DMB, 1EHA ACM = ABDM #1 AC=BD
In the diagram, M is the mid-point of AB, MC=MD, < CMA= <DMB, prove A ACM ~ ABDM, hence show
that AC=BD

44, BHRFrR— N IERILE, Kx+y
Diagram shows a regular pentagon. Find value of x +y

45. NEPT7R, ABCD 2¥47MiAfs, ABE@—#%Em BC=BE, K x#y HE.
In diagram, ABCD is a parallelogram, ABE is straight line and BC= BE. Find the values of x and
Y
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46. TNEFr7=, ABCD 2— 1 E A2, , AB=4cm, AD =6cm. 3k DC
In diagram, ABCD is right — angle trapezium, AB = 4cm, AD = 6¢cm. Find DC

47. Fx* = 169,135k x YT BE{E
If x2 = 169,find possible value of x

48. L TEV75
Simplify V75

49. i+&./(—9)% +V0.04
Calculate {/(—9)% + V0.04

50. AR R ATUKR(-5,-4)FR(9,-2)B R A 4R
Find the mid point of (-5,-4) and (9,-2)

51. E=ff£ ABC #1, <A=51° <B=35°30",35k C
In triangle ABC, <A=51°, <B=35°30’find C

52. Blfh, =/ ABC 25E=fA%, AB=BC., Z1R<Af5MAE=100°, K<B
In diagram, triangle ABC is an isosceles triangle, AB= BC, if exterior angle of <A is 100°, find angle <B

53. 11&+/81 x 225
Calculate v81 x 225

54. ItH [1-—

Calculate 3’1 oL
125

v srmnf3x—y =3
55 W ARR] Y ) g
3x—y=3

Solve simultaneous equation {x +2y=8
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56.

57.

58.

59.

60.

61.

62.

63.

64.

pEmE s ER], . " T,

2x—y=-1
4x + 3y = —12
EEBIR: KFHHIM 3em A5k 1 B, FEEHHIN 2em 5k 1 B 4r)

Ratio: horizontal axis 3cm represent 1 unit, vertical axis 2cm represent 1 unit

Solve simultaneous equation using graph {

HEV160000 — /=343
Calculate V160000 — /=343

WMRR/N_E=zMA 98, EMKZEHRS, KiL—"H

If sum of two numbers is 98, the difference between two numbers is 50, find the numbers

EHME(M,3)R(G.NEEL y=3x+6, I n-m=?
If two points (m,3) and (5,n)lie on straight line y=3x+6 , find n-m

&, ADI//BC, AB=AC, DA=DC %k <D=100°, 3k<BAC
From the diagram , AD//BC, AB=AC, DA=DC and <D=100°, find <BAC

TEl, POSTEE%Z, <R=33°, kX
From diagram, PQST is a straight line, <R=33°, find x

PER, ENFERZILFFERN4E =FF FENFEREZILFFERN 3IF. KESILFHF
M5

Two years ago, the father's age was four times the age of his son; three years later, his father's age is three times the age
of his son. What is the age of father and son this year.

4(x+y)—5x—-y)=2
Taty) =4-2G-y)

Solve sim ) 4(x+y)—5x—-y)=2
olve simultaneous equation
| {i(x+y)=4—§(x—y)

ﬁﬁﬂ%ﬁﬁﬁiﬁ{

ZEEH, AB=AC, AD=DB=BC, 5k<BCD
From diagram, AB=AC, AD=DB=BC, find <BCD
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